

Sales Tax Exemption

The Texas A&M Veterinary Medical Diagnostic Laboratory (TVMDL) is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the TVMDL.

The laws of the State of Texas shall govern this Purchase Order.

	Purchase Order	
Purchase Order Date	PO/Reference No.	Revision No.
Nov 1, 2017	AB0333668	0

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

Phone:

Buyer	Buyer Email	Buyer Phone Number
agc - Constancio, Angel	agc@tamu.edu	979.845.3847
Customer Contact:		
Name:	Teng Ma	
Email:	tengma@tamu.edu	

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services prior to shipping.

Su	Supplier Information		Delivery Information
Supplier Name	THORLABS INC	Delivery Address	
Address	56 SPARTA AVE	TAMUS Member:	02-Texas A&M University (02)
	NEWTON, NJ 07860-2402 US	Attn	Teng Ma
Phone	+1 973-300-4423	Physics Dept (IQSE)	
FOB / FREIGHT	Destination	Mitchell Physics Bldg	
Pre-Pay & Add	No	Room	
Payment Terms	0, Net 30	4242 TAMU	
Contract Number - Header	no value	College Station, TX 7784	43-4242
Contract Number - Line		United States	
		Delivery Information	
Quote number		Ship Via	Best Carrier-Best Way

Notes to Supplier

Header 001 No Collect Freight Neither COD nor "Collect" freight or handling charges will be accepted.

Charges Accepted

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 67	12mm Iris housing, 5 pack	IDA12-P5		200.79 USD	2	401.58 USD
	Required Delivery Date Nov 14, 2017	1				
2 of 67	FiberCable, MM, Silica, FC/PC, 62.5um, .275NA, 2m, 800-1600	M31L02		51.65 USD	6	309.90 USD
	Required Delivery Date Nov 14, 2017	I				
3 of 67	Rotation stage for 1" optics 2.2"OD 1.062-20 ID	RSP1		81.97 USD	2	163.94 USD
	Required Delivery Date Nov 14, 2017	1				
4 of 67	BNC Tee Adapter (F-M-C)	T3285		9.41 USD	4	37.64 USD

					1
	Required Delivery Date Nov 14, 2017				
5 of 67	BNC (M) RG58 C/U 60"	2249-C-60	18.33 USD	4	73.32 USD
	Required Delivery Date Nov 14, 2017	I			
6 of 67	**#8-32 bolt kit over 750 pieces	HW-KIT1	54.81 USD	1	54.81 USD
	Required Delivery Date Nov 14, 2017	1			
7 of 67	**#4-40 Hardware Kit for Mini Series	HW-KIT5	94.09 USD	1	94.09 USD
	Required Delivery Date Nov 14, 2017	1			
8 of 67	10 Pack of 1" UV Enhanced Aluminum Mirror	PF10-03-F01- 10	427.53 USD	1	427.53 USD
	Required Delivery Date Nov 14, 2017	1			'
9 of 67	**1" Lens Mount with SM1 External Thread	LMR1S	26.19 USD	5	130.95 USD
	Required Delivery Date Nov 14, 2017	1			'
10 of 67	1/2" Achromatic λ/2 Wave Plate 690 - 1200nm	AHWP05M-980	775.03 USD	1	775.03 USD
	Required Delivery Date Nov 14, 2017	1			
11 of 67	Patch Cable, SM, FC/PC, 780-970nm, FT030-Y, 2m, 125um, 0.13	P1-780A-FC-2	89.00 USD	6	534.00 USD
	Required Delivery Date Nov 14, 2017	I			
12 of 67	SM1 Int. to 1" Dia. Adapter	SM1AB1	15.42 USD	6	92.52 USD
	Required Delivery Date Nov 14, 2017	1			
13 of 67	1/2" Dia.x1.5" Long: Pack of 5 Post	TR1.5-P5	21.70 USD	2	43.40 USD
	Required Delivery Date Nov 14, 2017	1			'
14 of 67	Mounted VIS Linear Polarizer, 25.0mm OD	LPVIS100-MP2	939.93 USD	2	1,879.8 USD
	Required Delivery Date Nov 14, 2017		,		'
15 of 67	K-Cube Power Supply 15V, 2.4 A Power, Supply Unit for One K-Cube or T-Cube	KPS101	25.46 USD	6	152.76 USD
	Required Delivery Date Nov 14, 2017	1			
16 of 67	VEP36 US Adapter Plug Costless accessory for above item. Value for customs purposes \$1.00	ADAPTER4 US	0.00 USD	6	0.00 US

	Required Delivery Date	Nov 14, 2017				
L7 of 67	0.30 SM1 Lens tube, 5 pack		SM1L03-P5	56.02 USD	1	56.02 USD
	Required Delivery Date	Nov 14, 2017	1			
L8 of 67	Linear Translation Platform, 25m 25mm Travel	nm Travel Linear Translation Pla	atform, XR25C	390.91 USD	1	390.91 USD
	Required Delivery Date	Nov 14, 2017	1			
.9 of 67	1/4-20 bolt kit over 1000 pieces	3	HW-KIT2	108.64 USD	1	108.64 USD
	Required Delivery Date	Nov 14, 2017	1			
20 of 67	** 20 pcs Wrench Set with Stand	d	TC2	87.55 USD	2	175.10 USD
	Required Delivery Date	Nov 14, 2017	1			
21 of 67	BNC (M) RG58C/U 120"		2249-C-120	21.63 USD	4	86.52 USD
	Required Delivery Date	Nov 14, 2017	1			
22 of 67	SMA Male Straight to BNC Male	e Straight Cable, 24"	CA2824	15.62 USD	4	62.48 USD
	Required Delivery Date	Nov 14, 2017	1			
23 of 67	10 Pack of 1" Protected Silver N	firror	PF10-03-P01- 10	427.42 USD	1	427.42 USD
	Required Delivery Date	Nov 14, 2017	1			
24 of 67	Mounted AC254-300-A - 1.0", 6	fl=300mm	AC254-300-A- ML	95.06 USD	2	190.12 USD
	Required Delivery Date	Nov 14, 2017	1			
25 of 67	Large Adjustable Prism Clamp		PM4	21.83 USD	2	43.66 USD
	Required Delivery Date	Nov 14, 2017	1			
26 of 67	Laser Safety Glasses, 11% Visible	e Light	LG12	311.37 USD	3	934.11 USD
	Required Delivery Date	Nov 14, 2017	1			
27 of 67	Kinematic Prism Mount		KM100PM	71.78 USD	4	287.12 USD
	Required Delivery Date	Nov 14, 2017				
28 of 67	Premium Bandpass Filter, CWL:8	310nm, FWHM: 10nm	FBH810-10	159.08 USD	2	318.16 USD

20 - (67	Coolline Classics Fort 124	"	CE12E DE	41.10	4	16472
29 of 67	Small Univ. Clamping Fork. 1.24		CF125-P5	41.18 USD	4	164.72 USD
	Required Delivery Date	Nov 14, 2017	'			
30 of 67	Kinesis Brushed Motor Controlle	er	KDC101	607.22 USD	6	3,643.32 USD
	Required Delivery Date	Nov 14, 2017	ı			
31 of 67	1.00" SM1 Lens Tube, 5 Pack		SM1L10-P5	65.67 USD	1	65.67 USD
	Required Delivery Date	Nov 14, 2017	1			
32 of 67	Visible laser beam block active	area 3/4"x1.5"	LB1	48.02 USD	1	48.02 USD
	Required Delivery Date	Nov 14, 2017	1			'
33 of 67	Small Optical Rails 24 inch		RLA2400	142.59 USD	2	285.18 USD
	Required Delivery Date	Nov 14, 2017	ı			
34 of 67	BNC Straight Adapter (F-F)		T3283	6.74 USD	4	26.96 USD
	Required Delivery Date	Nov 14, 2017	ı			
35 of 67	BNC (M) RG58 C/U 48"		2249-C-48	17.27 USD	4	69.08 USD
	Required Delivery Date	Nov 14, 2017	ı			
36 of 67	Adjustable Spanner wrench		SPW801	95.06 USD	1	95.06 USD
	Required Delivery Date	Nov 14, 2017	ı			
37 of 67	Flip Mount Adapter		FM90	79.54 USD	2	159.08 USD
	Required Delivery Date	Nov 14, 2017	ı			
38 of 67	Fiber Collimation Adapter for SI	M1 Series Mounts	AD12F	28.62 USD	6	171.72 USD
	Required Delivery Date	Nov 14, 2017	1			<u>'</u>
39 of 67	**DT12 1/2" (12mm) XY Doveta	il Translation Stage	DT12XY	179.45 USD	4	717.80 USD
	Required Delivery Date	Nov 14, 2017	· · · · · · · · · · · · · · · · · · ·			-
40 of 67	Ultra Stable Mirror Mount For 1	inch Optics	POLARIS-K1	134.83 USD	2	269.66 USD
	Required Delivery Date	Nov 14, 2017				-1

41 of 67	Large Adjustable Prism Clamp	PM4	21.83 USD	2	43.66 USD
	Required Delivery Date Nov 14, 2017	I			
42 of 67	Fiber Collimation Package, λ=780nm, f=8.0mm, FC/PC	F240FC-780	143.56 USD	4	574.24 USD
	Required Delivery Date Nov 14, 2017	I			
43 of 67	Mounted LA1708-B, 1" f=200.0 mm	LA1708-B-ML	41.71 USD	2	83.42 USD
	Required Delivery Date Nov 14, 2017	I			
44 of 67	** 2" Post Holder with Spring-loaded Thumbscrew Pack of 5	PH2-P5	37.35 USD	2	74.70 USD
	Required Delivery Date Nov 14, 2017	1			
45 of 67	Rotation Stage For 1" Optics w/ Calibrated Scale	RSP1D	89.97 USD	2	179.94 USD
	Required Delivery Date Nov 14, 2017	ı			
46 of 67	0.50 SM1 Lens Tube, 5 pack	SM1L05-P5	58.01 USD	1	58.01 USD
	Required Delivery Date Nov 14, 2017	1			
47 of 67	Rail Carrier, Counterbored Hole 1"x1" Dovetail Clamp	RC1	24.15 USD	20	483.00 USD
	Required Delivery Date Nov 14, 2017	ı			I
48 of 67	14-Slot Cable Rack	T1508	12.51 USD	1	12.51 USD
	Required Delivery Date Nov 14, 2017	I			
49 of 67	**High Precision Translating Lens Mount for 1 inch O	LM1XY	139.68 USD	2	279.36 USD
	Required Delivery Date Nov 14, 2017	I			
50 of 67	D=25.4mm 35pc N-BK7 Plano-CX, Plano-CC, Bi-CC B Coat	LSB04-B	1,487.98 USD	1	1,487.98 USD
	Required Delivery Date Nov 14, 2017	ı			I
51 of 67	Pedestal Base Adapter	BE1	9.02 USD	20	180.40 USD
	Required Delivery Date Nov 14, 2017	1			
52 of 67	SMC Female Straight to BNC Male Straight Cable, 48"	CA2648	42.68 USD	4	170.72 USD
	Required Delivery Date Nov 14, 2017	1	330		035

53 of 67	SM1-Threaded VIS and IR Alignment Disk 400-640, 800-1700nm	VRC2SM1	78.09 USD	1	78.09 USD
	Required Delivery Date Nov 14, 2017	ı			
54 of 67	Silicon Power Head,400-1100nm, 50mW	S120C	291.00 USD	1	291.00 USD
	Required Delivery Date Nov 14, 2017	ı			
55 of 67	XYZ Motorized 1" Translation Stage	PT3-Z8	2,450.22 USD	2	4,900.44 USD
	Required Delivery Date Nov 14, 2017	ı			
56 of 67	20mm Broadband Dielectric -E03 Coated Right Angle	MRA20-E03	125.13 USD	2	250.26 USD
	Required Delivery Date Nov 14, 2017	ı			•
57 of 67	20mm Polarizing Beamsplitter Cube 620-1000nm	PBS202	195.94 USD	2	391.88 USD
	Required Delivery Date Nov 14, 2017	'			
58 of 67	1/2" Achromatic λ/2 Wave Plate 690 - 1200nm	AHWP05M-980	775.03 USD	2	1,550.06 USD
	Required Delivery Date Nov 14, 2017	ı			'
59 of 67	Thermally Stable C-Mount to SM1 Adapter	SM1A9TS	20.95 USD	1	20.95 USD
	Required Delivery Date Nov 14, 2017				
60 of 67	Kinematic Rotation Mirror Mount For 1" Diameter Optics	KS1RS	229.89 USD	3	689.67 USD
	Required Delivery Date Nov 14, 2017	'			
61 of 67	CMOS Camera, 1280x1024, NIR, USB3.0	DCC3240N	1,522.90 USD	1	1,522.90 USD
	Required Delivery Date Nov 14, 2017	1			
62 of 67	Fiber Coupled Laser Source, 808nm, 25mW min.	S1FC808	1,696.53 USD	1	1,696.53 USD
	Required Delivery Date Nov 14, 2017	'			
63 of 67	POWER CORD USA	POWER CORD USA	0.00 USD	1	0.00 USD
	Required Delivery Date Nov 14, 2017	ı			
64 of 67	Medium Powder Free Nitrile Gloves, QTY 100	MC10-M	18.82 USD	1	18.82 USD
	Required Delivery Date Nov 14, 2017	1			

		ADAPTER4 US			
	Required Delivery Date Nov 14, 2017				
66 of 67	1" Motorized Rotation Stage (Imperial), Controller and PSU	KPRM1E	1,329.87 USD	1	1,329.87 USD
	Required Delivery Date Nov 14, 2017				
	Medium Powder Free Nitrile Gloves, QTY 100	MC10-M	18.82 USD		18.82 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu. Invoice must include the PO/Reference number shown above.	Texas A&M University-Accounts Payable ***Do Not Mail Invoices*** Email invoices to invoices@tamu.edu 750 Agronomy Road - Suite 3101 6000 TAMU College Station, TX 77843-6000 United States